

Calculus 12  
IMPLICIT DIFFERENTIATION  
& DERIVATIVES OF TRIG FUNCTIONS  
QUIZ

NAME : \_\_\_\_\_

(A) Find the derivative  $dy/dx$  for each of the following.

1.  $y^2 = 6x^2 + 3y^3$

2.  $x^2y^4 = y^3 + 3x^2$

3.  $(y^2 + 2)^3 = x^4y + 11$

4. (a)  $2y + 5 - x^2 - y^3 = 0$   
(b) Evaluate the derivative at the point  $(2, -1)$

(B) Find the derivative of each of the following inverse trig. functions.

1.  $y = \cos^{-1} 5x$

2.  $y = \sin^{-1}(1-x^2)$

3.  $y = 3\cos^{-1}(x^2+0.5)$

4.  $y = \tan^{-1} 3x^4$

\* BONUS: Find  $dy/dx$  if  $x+y = \tan^{-1}(x^2+3y)$

Calculus 12  
 IMPLICIT DIFFERENTIATION  
 & DERIVATIVES OF TRIG FUNCTIONS  
 QUIZ

NAME : \_\_\_\_\_

(A) Find the derivative  $dy/dx$  for each of the following.

1.  $y^2 = 6x^2 + 3y^3$

$$2y \frac{dy}{dx} = 12x + 9y^2 \frac{dy}{dx}$$

$$2y \frac{dy}{dx} - 9y^2 \frac{dy}{dx} = 12x$$

$$\frac{dy}{dx} (2y - 9y^2) = 12x$$

$$\frac{dy}{dx} = \frac{12x}{2y - 9y^2}$$

2.  $x^2 y^4 = y^3 + 3x^2$

$$2x y^4 + 4y^3 \frac{dy}{dx} x^2 = 3y^2 \frac{dy}{dx} + 6x$$

$$2x y^4 + 4x^2 y^3 \frac{dy}{dx} = 3y^2 \frac{dy}{dx} + 6x$$

$$4x^2 y^3 \frac{dy}{dx} - 3y^2 \frac{dy}{dx} = 6x - 2x y^4$$

$$\frac{dy}{dx} = \frac{6x - 2x y^4}{4x^2 y^3 - 3y^2}$$

3.  $(y^2 + 2)^3 = x^4 y + 11$

$$3(y^2 + 2)^2 \cdot 2y \frac{dy}{dx} = 4x^3 y + \frac{dy}{dx} x^4$$

$$6y(y^2 + 2)^2 \frac{dy}{dx} - x^4 \frac{dy}{dx} = 4x^3 y$$

$$\frac{dy}{dx} = \frac{4x^3 y}{6y(y^2 + 2)^2 - x^4}$$

~~$$= \frac{4x^3 y}{6y(y^2 + 2)^2 - x^4}$$~~

~~$$= \frac{4x^3 y}{6y^5 + 24y^3 + 24y - x^4}$$~~

4. (a)  $2y + 5 - x^2 - y^3 = 0$

(b) Evaluate the derivative at the point  $(2, -1)$

(a)  $2 \frac{dy}{dx} - 2x - 3y^2 \frac{dy}{dx} = 0$

$$(2 - 3y^2) \frac{dy}{dx} = 2x$$

$$\frac{dy}{dx} = \frac{2x}{2 - 3y^2}$$

(b)  $\frac{dy}{dx} = \frac{2(2)}{2 - 3(-1)^2}$

$$= \frac{4}{-1} = -4$$

(B) Find the derivative of each of the following inverse trig. functions.

1.  $y = \cos^{-1} 5x$

$$\frac{-1}{\sqrt{1-u^2}}$$

$$y' = \frac{-5}{\sqrt{1-25x^2}}$$

2.  $y = \sin^{-1}(1-x^2)$

$$\frac{-1}{\sqrt{1-u^2}}$$

$$y' = \frac{-2x}{\sqrt{1-(1-x^2)^2}}$$

$$= \frac{-2x}{\sqrt{1-(1-2x^2+x^4)}}$$

$$= \frac{-2x}{\sqrt{2x^2-x^4}}$$

3.  $y = 3\cos^{-1}(x^2+0.5)$

$$\frac{-1}{\sqrt{1-u^2}} \quad 2x \cdot 3$$

$$= \frac{-6x}{\sqrt{1-(x^2+0.5)^2}}$$

4.  $y = \tan^{-1} 3x^4$

$$\frac{1}{1+u^2}$$

$$\frac{12x^3}{1+(3x^4)^2}$$

$$\frac{12x^3}{1+9x^8}$$

$$= \frac{-2x}{\sqrt{x^2(2-x^2)}}$$

$$= \frac{-2x}{x\sqrt{2-x^2}}$$

$$= \frac{-2}{\sqrt{2-x^2}}$$

\* BONUS: Find  $dy/dx$  if  $x+y = \tan^{-1}(x^2+3y)$

$$1 + \frac{dy}{dx} = \frac{1}{1+(x^2+3y)^2} \cdot (2x + 3 \frac{dy}{dx})$$

$$1 + \frac{dy}{dx} = \frac{2x + 3 \frac{dy}{dx}}{1+(x^2+3y)^2} \Rightarrow 1 + \frac{dy}{dx} = \frac{2x}{1+(x^2+3y)^2} + \frac{3 \frac{dy}{dx}}{1+(x^2+3y)^2}$$

$$\frac{dy}{dx} - \frac{3 \frac{dy}{dx}}{1+(x^2+3y)^2} = \frac{2x}{1+(x^2+3y)^2} - 1$$

$$\frac{dy}{dx} = \frac{2x}{1+(x^2+3y)^2} - 1 = \frac{2x - (1+(x^2+3y)^2)}{(1+(x^2+3y)^2) - 3}$$